October 8, 2019

Find ﬂ
X
o SWn(xky) — sy
h=>0 h

oy SR Cosh + cosksinh — WX
h=20 0 h

‘w Sl — X
l"\ X{ cos Q + wsK@ - wsX
ho %

— \







October 8, 2019

(1: cos X

ﬂ § IIW\ @S (xth) — (033(4

dX h-=>0

h

- [ coskcosh-snKsnly —ces

n-o

> l'\w\ CosX

h D

h~o

b

SwX

)
s

Lh ]

==Shx




October 8, 2019

d (cosx)

— = - Swn¥




October 8, 2019

Find a("oc)

V
) L0)=sinzx | 2) §= slniy

:S;v\(ZX) = (suny)

f'CX): co§( 2)\)- p] {/(K):Z (S h x) (oSX
- > COSQJ\) = S‘\Y\Q’X)




October 8, 2019

Cosex)= | = 25In°x
CoskX) -l = —25in"X

cosex) |\ = =SINEX
= 3

Tee———

CoS (?-K

(et
ix
> ;Z( \V\(?.X)é) SLV\(ZX)




